G, [Mb]

Ratio to ALICE

900 GeV pp Soft QCD
_l T I T I I T | T I I T I T |_4(Q
16 — : o
B Cross section(An > 3) 13
B —=
— m  ALICE BN
= Herwig 7.1.4 default n
— —A— Pythia 8.301 default 1<
12 4 Sherpa 2.2.8 default __02
- 12
B §[=
10 — —
g _ @
- BRSS
R R L LR e T PP e P e e e SRR LT R L R PP E PR L R EEEE Y ™
- 138
61— - s
>
- 1
- 1 @
4 — A —— =
- -9
- —
2 — e
- -9
- 8
a) :! ------------------------------ ! ------------------------------ L T -------------- o o C ! : E
2 F 342
o R -
1H 1
- A —
0.5 — —0.5
l . . l . l
899.5 900 900.5

sgrt{s} [GeV]



	Contents
	Page 1


